Question Paper Preview

Notations:
1.0ptions shown in green color and with #" icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Economics 5 years Integrated 25th Sep 2021
Question Paper Name:

Shift 3
Subject Name: Economics (5 years Integrated)
Creation Date: 2021-09-25 18:58:55
Duration : 90
Total Marks : 100
Display Marks: No
Calculator : None
Magnifying Glass Required? : No
Ruler Required?: No
Eraser Required?: No
Scratch Pad Required?: No
Rough Sketch/Notepad Required? : No
Protractor Required?: No
Show Watermark on Console? : Yes
Highlighter : No
Auto Save on Console? ( SA type of questions will Ves

be always auto saved ) :

Economics (5 years Integrated)

Group Number : 1



Group Id : 96835572

Group Maximum Duration : 0

Group Minimum Duration : 90

Show Attended Group?: No

Edit Attended Group?: No

Break time : 0

Group Marks : 100

Is this Group for Examiner?: No
PART A

Section Id : 96835599

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 40

Number of Questions to be attempted : 40

Section Marks : 40

Enable Mark as Answered Mark for Review and

Clear Response: Yes

Sub-Section Number : 1

Sub-Section Id : 968355125

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9683557385 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



If5,i — 21+ x =6>then x =
3 2 4

1 1 i | o
b— — 2—-4+x=6- o8 x =
3 2 -

Options :

3

12

5

12

Question Number : 2 Question Id : 9683557386 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The value of 0.04 X 0.5+ 0.98 =
0.04 X05+098 end

Options :

0.118



3. %

0.982

Question Number : 3 Question Id : 9683557387 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The value of 0.4 X 0.02 X 0.032 =
0.4 X0.02X0.032 Dend

Options:

|, 0256

0.0256

N

0.00256

0.000256
4.9

Question Number : 4 Question Id : 9683557388 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

o 3 3 4 5 .
The largest fraction among e and s

-.

3 3
5.?.-

=] | o=

vy 5 - s <
Options :

3
5

~1 | w

=1 | =

Question Number : 5 Question Id : 9683557389 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What fraction 1s 25 paise of Rs. 6 =

Srarchen 6 & 25 de 0 Do&?

-

Options :



Question Number : 6 Question Id : 9683557390 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If— =02689 then —— =
3.178 0.0003178
L —02689 ©ond — =
3.178 0.0003178
Options :
0.0002689
1. %

- 0.00002689

2.689



2689

Question Number : 7 Question Id : 9683557391 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

055 X055+2X 055X 0.45+045X045
0.554+0.45

e

The value of

0.55 X 0.55+2 X 0.55 X 0.45 +0.45 X 0.45
0.55+0.45

Options :

Question Number : 8 Question Id : 9683557392 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What decimal fraction 1s 50 meters of a kilometer =

a8 86°Q0thS” 50 diy @) B8 o



Options :

. 0.003

Question Number : 9 Question Id : 9683557393 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The HCF and LCM of two numbers are 16 and 192, then the numbers are

ot Soge ﬁ@‘g P gresssin Hok éﬁ)‘g g thedeoey 16
50050 192 @ondS® & 3o éoaaege.n

Options:

., 64,48

46,84
2. %

.« 35,65

o 21,54



Question Number : 10 Question Id : 9683557394 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The LCM of two numbers 1s 420 and HCF of the same numbers 1s 14. If one

number 15 84. the other number will be

n

L)

Toth Mopge é?&" e Hodeso 420 B 653 Frde erado 14
oonSeF, 84 e e.,ocfn& AR éoaaé @008 B0&Y K 05

Options :

70

1. %

81

Ll
-2

o

Question Number : 11 Question Id : 9683557395 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Four clocks struck respectively at the mterval of 6,8, 9 and 12 seconds.
Find out when they will be struck all at a time
oot Hsrer SE3m 6, 8, 9 HBH 12 ot wosto® TERTHA.

e ©d e §0% 9 Hsd’ ANt S8 0ai,
Options :

1 Min 12 Sec
1.4

1 Min 15 Sec

1 Min 21 Sec

1 Min 24 Sec

Question Number : 12 Question Id : 9683557396 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The square root of 53361
53361 @), SBHrrom

Options :

. 251

2.%‘,231



179

159

Question Number : 13 Question Id : 9683557397 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If 2 = 1.4 then the value of V288 + /162 =

V2 =14 oomds® 288 +1162 el

Options:

28.6

1. #

284

294

Question Number : 14 Question Id : 9683557398 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The cube root of 2 % 1S
2~ B oS

Options :
3

1.% 4

W=

o | o

-2
W] =

4. %

Question Number : 15 Question Id : 9683557399 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Relation between mean, median and mode 1s

Srién, SHegido b adwEEo o Sowogo

Options :
Mode = 3Median — 2 Mean
g0 = 3 ggido - 2 Btk

1.4



Mode = 3Median — Mean
exTgBo = 3 Soggido - Jrién

Mode = Median — Mean
ao¥80 = Sggido - Jrién

3. %
Mode = Median — 2 Mean
asTogBo = Soggido — 2 Jiféx
4, %

Question Number : 16 Question Id : 9683557400 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The first and third quartile of a given data are 22 and 40 respectively, then the
quartile deviation 1s

31} terodiin Gn¥) antild 0 Seti) ddoroTen i 22 &0
oo 40 wonsS ﬁﬁe‘.’an%éo%m
Options :

18

1. %



Question Number : 17 Question Id : 9683557401 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The mean marks of 5 boys of a class are 10 and of 5 girls are 4 then the mean

marks of the whole class was

28 S8 bt arend ikt 10 drthen Hdckw 5o adbe HHkn 4

S esS @ $518 Ingo HoRO ks

Options :

9

1. %

Question Number : 18 Question Id : 9683557402 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If A=2nmr(h+r), thenthe value of hinr and A 15

A=2mr (h+1) oSS h o) Dendd 1 SHdak A o



Options :

A
2ar +r

4.« 2mr

Question Number : 19 Question Id : 9683557403 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
If 3x + 4y = 10,4x + 3y = 11, then the value of x and y are
3x + 4y = 10,4x + 3y = 11 wowdS® x S0 y Jenden

Options :

Zll
1.

2
2. %

3.1
3. %

2,2



Question Number : 20 Question Id : 9683557404 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If x1/2 = 0.2 then x3/2 is

e =02 wonns® e
Options :

V2

1. #
3
/2
0.008
L

8.002
4. %

Question Number : 21 Question Id : 9683557405 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If b2 — 4ac > 0 then the roots are

b2 —4ac > 0 ©ond3S® 78 Sreeren

Options :

1. #



complex

o880
£

equal

- Rd&eaeen
3. %

complex and real

Bo8%0 Kb FHHo
4. % ¥

Question Number : 22 Question Id : 9683557406 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[f A 15 a finite set consisting of n elements, then P(A) contains elements

&8 0D 5B @ng) reser n s P(4) SRS drosws

Options :

31]



Question Number : 23 Question Id : 9683557407 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The length of a garden 1s 120 mts. and breadth 1s 80 mts., then the perimeter
15
o8 86 @o¥) SEH 120m SBa Sen) 80m eonde HinFod

Options :

400 mts.

1.4

300 mts.

150 mts.
3. %

~ 250 mts.
4, %

Question Number : 24 Question Id : 9683557408 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A wheel covers the distance 220 ¢cm. n one round, then the radius of the
wheel will be

a8 o a8 »foegeﬁe 220 cm &roR) Bhod. sandS @ Hgo @)
aﬁgjﬁﬁgm

Options :

35

1.4

45 cm.

50 cm.
3. ®

42 cm.
4, %

Question Number : 25 Question Id : 9683557409 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. The area of a circle 15 616 sq. cm., then the radius of the circle will be

2.8 &30 @) FIPexo 616 5.20.9., wond H TR
o) o g= U @ FE—

0
Options :
15 cm.

1. %

16 cm.
2. ®



_— 14 cm.

Zlem
4. %

Question Number : 26 Question Id : 9683557410 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The radius of a sphere 1s 7 cm., then the area of 1ts surface will be

.8 o @t amrdo T 0.0 s wd 43080 e

Options :

718 sq.cm.

536 sq.cm.
2. %

458 sq.cm.
3. %

616 sq.cm.

4. &

Question Number : 27 Question Id : 9683557411 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



I the side of a square 15 doubled. Its area 1s tncreased by %

6.5 EHo @) gheo o) o0 0 FTeg e P

Options :

300

Question Number : 28 Question Id : 9683557412 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. The diagonals of a thombus are 16 cm. and 12 cm., then its pertmeter 1S
&8 Jdiidymo @og) Sorep 16 cm HB 12cm ol =R

StnEed
eu, —_—

Options:

30 cm.

40 cm.
2.

20 cm.



60 cm.

Question Number : 29 Question Id : 9683557413 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. The value of logs 811s

logz 81 G30E) Ded

Options:

4

1. %

o

Question Number : 30 Question Id : 9683557414 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
IfA=1{23456,7,89},B= {357} thenANnBis
A=1{2,3,456,7,89},B = {3,5 7 eoands® ANB



Options :

A

Question Number : 31 Question Id : 9683557415 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If the number of subsets are 32 of set A then the number of elements of the set
Ais

32 &3en BOAD D8 A o'c’mégI Srosee éoaaeg

Options :

5



32

Question Number : 32 Question Id : 9683557416 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The zero’s of the polynomial x° — 5x° + 6x are

x3 —5x% + 6x @08) a0 Frsseen
Options :

1.24.3

Question Number : 33 Question Id : 9683557417 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The degree of a constant polynonual 1s

a8 %D“‘Dé TN (iwé‘; B8N

Options :



Question Number : 34 Question Id : 9683557418 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. The system of equations a;x + byy + ¢; =0, ayx + byy + ¢; = 0 has unique
solution when

mx+by+c =0 ax+by+c,=0
SIS ERLE IRV SR b R e I e

Options :
a1 bl
1. ¢ az 02
ay by
b
2. ® R :

a3 By £



By 3 B it

s EJZ Ca

Question Number : 35 Question Id : 9683557419 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

0.6,1.7,2.8,39,....are m A. P., then the first term and common difference are

A

0.6,17,28,39, ... & ©08366° &d)on8 a8 Antidiitio SO
PEmy B0

Options :

Question Number : 36 Question Id : 9683557420 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which term of the A. P. 3,8,13,18, ...1s 787
3, 8,13, 18....0 w0¥(3EE° &35 78 @ Jud) HrD:00

Options :

14

Question Number : 37 Question Id : 9683557421 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The distance between the points ‘0’ (origin) and a point P(5,4) is
dwre Do) 0" 0y P(5,4) dothehe iy Hrdin

Options :

V41 units

1.4

52 units

V56 units



68 units

Question Number : 38 Question Id : 9683557422 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The area of a triangle whose vertices are (3, 2), (0,—1) and (-4, 2) 1s

[

(3, 2) (0,-1) &bt (-4, 2) (@8 STeo LSS T oy

€3

Options :

Question Number : 39 Question Id : 9683557423 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The value of sin 45° 4 cos 45° =

sin 45% + cos 45°% Dend

Options :

1. %
1
\,E
2. %
A
3. %

Question Number : 40 Question Id : 9683557424 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. 8 _
Ifcosth—= 5 then sin 6 =

8 g
cosll = E@wc@& sin g =
Options :

12
17

10
13



15

17
4. &

PART B

Section Id : 968355100
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 15
Enable Mark as Answered Mark for Review and
Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 968355126
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9683557425 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

choose the best SYNONYM:
VINDICATE

Options :

1 % open



o ventilate
Justify
3. % i

recommend
4. %

Question Number : 42 Question Id : 9683557426 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

choose the best SYNONYM:
FICTITIOUS

Options :
1 % credible

believable
W
true

fabricated
4, &

Question Number : 43 Question Id : 9683557427 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

choose the best SYNONYM:
COGENT



Options :
power
1. %

., 1llogical

CONvIincing
3.9

incoherent
4. %

Question Number : 44 Question Id : 9683557428 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
choose the best ANTONYM:
TURBULENT
Options :

| % shaky

comfort
2. =

5« chaotic

trangqual
P q

Question Number : 45 Question Id : 9683557429 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



choose the best ANTONYM:
STATIC

Options :
stable

1. #

,  Inoving
3 % strong

objective
e

Question Number : 46 Question Id : 9683557430 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
choose the best ANTONYM:
RELUCTANT

Options :

1 willing
5 % disloyal

5 « Stupid

unwilling
4_ ]

Question Number : 47 Question Id : 9683557431 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with the appropriate one from the given four options:
Foreign word/expression “‘sine die” means

Options :
~ signature
1. %  ©

5 % defined

3. % finite

indefinitely
4. &

Question Number : 48 Question Id : 9683557432 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with the appropriate one from the given four options:
Phrasal verb “wear out” means

Options :
. dressed well

5> & exhaust

5 » external

partying
4. %



Question Number : 49 Question Id : 9683557433 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with the appropriate one from the given four options:
Idiomatic expression “let the cat out of the bag” means

Options :
| % unleash the cat

> % unearth a treasure

- lose the opportunity

reveal a secret
W

Question Number : 50 Question Id : 9683557434 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with the appropriate one from the given four options:
He me since 2000,

Options:
1« has known

5 % has been known

- has been knowing

is knowing



Question Number : 51 Question Id : 9683557435 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with the appropriate one from the given four options:

I got her letter previous day.

Options:

1. % a

, % an

3 ¥ the

no article

Question Number : 52 Question Id : 9683557436 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with the appropriate one from the given four options:

She 1s sick staying at home for weeks together.

Options :

1.« of

2. off

5 « With



4, % for

Question Number : 53 Question Id : 9683557437 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with the appropriate one from the given four options:

The old man was overwhelmed arief at the death of his only son.

Options :
1.% 10

2 « With

3 % OVer

4 w under

Question Number : 54 Question Id : 9683557438 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with the appropriate one from the given four options:

Film actresses usually take pride their beauty.

Options :
of

1. %

, % Over

3. ¥ n



Question Number : 55 Question Id : 9683557439 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with the appropriate one from the given four options:

Either you or she the gold medal for this academic vear.
Options :
wins
v/
5> % Win
won
e
4 % had won
PART C
Section Id : 968355101
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 15

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Sub-Section Number : 1
Sub-Section Id : 968355127

Question Shuffling Allowed : Yes

Question Number : 56 Question Id : 9683557440 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Name the person who was also known as Deshbandhu.

&s (Eob 78S° BEwoth ©f Erme bendnad o W

Options :
S. Radhakrishnan

- IR Uﬁﬁfﬁ}&%

GK. Gokhale

, x 3 Fed

Chittaranjan Das

3 ¢ fg80ea R

Madan Mohan Malviya

= e T
080 PR e
4, %

Question Number : 57 Question Id : 9683557441 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who started the Zamindari system?

&, L s o
2fbotrd NN AN (@odomrtn?

=



Options :

John Shore
| % e 5O

L. Cornwallis

NS, =575
2. o

Lord Minto

o8 oo

William Bentinck

Do TofolE

Question Number : 58 Question Id : 9683557442 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is the oldest mountain range in India?
FEERES R Yoo HEEES Ha?
Options :

Satpura Range

Soe (BB
(=¥}

Aravali Range

eornd Hobd



Vindhya Range

EJ::ES,; H8E

Pir Panjal Range

-

4 % 5 Hoa:sd Bok

Question Number : 59 Question Id : 9683557443 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The capital of Uttarakhand is....
adopol ooard....
Options :
Masoorie

Lodioed

1. %

Dehra Dun

QISR

Nainital
S0er=S

None of these

Question Number : 60 Question Id : 9683557444 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
The literacy rate of India is....
TEEDE ©Xoeird Bén. ...

=, 7]

Options :

57.86%

61.34%

63.98%

Question Number : 61 Question Id : 9683557445 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The upper house of Indian Parliament is known as —
88 &r8R00es DS Do ... BOLFED.

Options :

The Rajya Sabha

oeegd

1.9

The Lok Sabha

o 5



The Vidhan Sabha

wﬁ"“: e

The Vidhan Parishad
Doed D8RS

Question Number : 62 Question Id : 9683557446 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Macmohan Line demarcates the boundary between which countries?
5‘3,'5*"' S 85 3 dwe oty 8RR HhBoo.

Options :

USA and Canada
C0dHB & oboiw BHE

1. %

Nepal and India

Sre Bk rEEGE0

India and China

s0805 08w B
3. %

India and Myanmar

EERT0 LoBakn a’wﬁmég
4, %

Question Number : 63 Question Id : 9683557447 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The last Mughal Emperor was ?
D58 oS HEDHB 2%0?
Options :
Bahadur Shah
2s=&e=Ear

1. %

Humayun
ECEv e vrbS)

Aurangzeb
Dol Fd

Bahadur Shah

O e —
DoTTO &R

Question Number : 64 Question Id : 9683557448 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Discovery of India’ book written by
‘&‘A’:;ES@: @ 308 HI¥o..... T

Options :
MEK.Gandhi

1 % DB mob



Jawahar Lal Nehru

257 0erd BT

Balagandadhar ilak

crelomrds St

Dr.B.R. Ambedkar

==n .98, vwoz c‘:i*S

Question Number : 65 Question Id : 9683557449 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who was called the Father of the Indian Unrest by the British?
DR 7% TEERE 0088 HETbT S Heodnrd?

Options :

MK Gandhi
| % @0 B rod

BG Tilak
2

Al g

5 & , SO

Motilal Nehru

L« Trbed

Bhaeat Singh

K& Loh



Question Number : 66 Question Id : 9683557450 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Durand Cup is associated with?
Srporol E9 &0&° Yonodo XOA sod?
Options :

Swimming
S

Football
ST

Table Tennis
Sond SR

3. %
Hockey
S8

4. %

Question Number : 67 Question Id : 9683557451 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When is the International Yoga Day celebrated ?

&, L -, - - €
E:::e‘.‘é::r_;e.a& Toorr BT E)T ADHPH 2P Tootrdd?

Options :

1.4



June 21

=
o 21

March 21

S8y 21
2. % 2

April 22
- DS 22

May 31
4 o 31

Question Number : 68 Question Id : 9683557452 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Think tank of Government of India that replaced the Planning commission is?

[Pz Jodrosdo 30 IE 88 {_E'::?bé; &0k ﬁ.‘J‘SOE?

Options :

NITI dharma

8 &)
1. % =

NITI Vakya
D& =%
2. % N

NITI Shashan

Froy s E
fles odrd



NITTAavog

y v Ha ed@»h

Question Number : 69 Question Id : 9683557453 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Excess of fluoride in drinking water causes:
SO ESE 06 wh¥orr sodto Sl

Options :

Lung disease
#eBhddne 708

1, % = =

85

Intestinal infection

0% SDES

Fluorosis

B0

None

. DD

Question Number : 70 Question Id : 9683557454 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is the world’s largest peninsula?
2ot &S D& (PHoKos® oa Bl &rb¥eno?
Options :
India
| % TBEBE0

South Afiica
- ~eteteioy

Arabia
3 ¢ e tAlovi

Alaska
4w BT,
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Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 9683557455 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which country 1s set to gift nearly 2 lakh doses of COVID-19 vaccines to the UN Peace
Keepers?
UN 708 5885505 oy 2 ofp Irethes =95 - 19 ook s sl
D 8o Néom é0b?
Options :
China

o

I’EJJ

India

TESEB0

ff&

UK

C“:-‘:E

Question Number : 72 Question Id : 9683557456 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Who has been appointed as the CEO of Unique Identification Authority of India (UIDAI)?
$5rRE 0BodE4S werdd 8B sobar (UIDAL CEOm 5% Acobdodint?

Options :

Rajeev Kumar

£

s T80 5578

Rajeev Sinha

(b,

23

2w

G:r

’.'\.J
v

Sanjay Agarwal

Hosedn @ﬁt::‘;ef

Saurabh Garg

FES =5

Question Number : 73 Question Id : 9683557457 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which institution has recently adopted 295 Atal Tinkering Labs (ATLs) across India”

séde 883508 2 ﬁoé 295 wod &okboh ) (ATLen) i};ﬁ&o&o&?
Options:
DRDO
&edl

1. %



ISRO

=

=&F

CSIR

3 @ Hamnd

ATIMS

=
oJOJJ@r:]

Question Number : 74 Question Id : 9683557458 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Justice HimaKohli has become the first woman Chief Justice of High Court

B e S . TEGS k8 Sire B8 TEre edms

3] J
Options:

Telangana

SOOI
1.+

Kerala

(18
(08
o,

Andhra Pradesh

soBHRS



Tamil Nadu
ShETH

Question Number : 75 Question Id : 9683557459 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

India’s first National Sports University has been launched in
TEERE0S® Iwdd wiH G OEDopeodio (@Sodosabod

Options :
Sikkim
E"-\E--h
1_ @ n.u..-:C}
Manipur
SRS
2. ¢
Kerala
28
3. %
Punjab
Do
4. %

Question Number : 76 Question Id : 9683557460 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Who won the 2021 Maharashtra BhushanPuraskar given by the Maharashtra government?

Soiftoegy (B0 ai)d 2021 hifoy drdd HEFBH A RenbbamS?

e

Options :

Asha Bhosle

o7 Loy
1.4

Lata Mangeshkar

5 L=
" o= DJ:'DHG-%E

Shalkti Mohan

S8 FoeseS
3.%

Atif Aslam

©8D w0
4. %

Question Number : 77 Question Id : 9683557461 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the theme of International Children’s Book Day (ICBD) 20217
@Déﬂ;e@cﬁ: Fow PJE &E’Eéﬁo (ICBD) 2021 &w¥) 63 Hé?
Options :
The Music of Love

(0% @Bw¥) Sohso

1. %

The Music of Thinking

&ofoh Soer2E
2. % )



The Music of Words

& KRt eh S
3.‘? o Ty

The Music of Life

. & émaﬂﬁ oD 8

Question Number : 78 Question Id : 9683557462 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e-SANTA 15 an electronic marketplace launched by the government for the benefit of which
group?
a-Totr €3 @ ({78 [E&ramy B0 ({h80 (F8odol dolghE Erg)iaR?

Options :
Higher educational institutions

aded Doer Dodew
r=th J &

-

1. %

Retailers
Ales ﬁg&t&:m
2. %

Insurance firms

w

B )
B Romen

Beh

Aqua farmers

-~ "/-\ -
4 v O5H 20



Question Number : 79 Question Id : 9683557463 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who has launched a nationwide campaign “Covid vaccine with safe forest, money and
enterprise” through a virtual medium?

é&;ﬁ&‘i@f Sripsho oo “BESH e, day) ok éo%ﬁ” S8 075&\.5” ®F BT

Perdo 5% [FSodomrd?
Options :
Amit Shah

|« S &

Hardeep Singh Puri

D Doh =8

gt
od”

Rl

2. %

Arjun Munda

oXs oo
3. B

Rajnath Singh

oS8 oh
4.% = O

Question Number : 80 Question Id : 9683557464 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Name the film, which was honoured with the Network for the Promotion of Asian Cinema
(NETPAC) Award for Best Asian Film at the 23rd edition of BIFAN for the year 2019,

2019 $0581=08 BIFANGN) 238 28ATE° a8 shole Higore 36555) 566 (Haris

o5 ehabd 2RE» (NETPAC) oms* $8Bosnds digo 8.



Options :
Gully Boy
| K8 o

India’s Most Wanted

sobdir Jrn 0BG
2. % =~

Manikarnika: The Queen of Jhansi

&:%5?5 o E;E o5 t‘i:mégbc:-, o=
3. % )

Uri: The Surgical Strike

&b : égﬁg @E
4, ®

Question Number : 81 Question Id : 9683557465 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
National Education Policy 2020 emphasizes to set up which fund?
=805 Sy Qo 2020 2 0 o Fbred T Twcod?
Options :

Education Upliftment Fund
6'3655 &c‘é,tﬁea 06

Gender Inclusion Fund

DoKX T8 %o 08
2. w

3. %



Social Empowerment Fund

FErRE FHT8E

Gender Equality Fund

Dol JarRs
4, % B

Question Number : 82 Question Id : 9683557466 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Who has been appointed as the flag-bearer for the Indian contingent at the opening ceremony
of the Tokyo Olympics?

' 2,0008) [Brbon H46° 88 2)orrRE Bow Frwmdrre K6 Adbihdeding?

Options :
MC Mary Kom and Manpreet Singh

D8 55 H8chn HBE oh
1.¢

GeetaPhogat and Amit Panghal
fize 51T H0B80%n @& Hond

2. %
Hima Das and Manish Kaushik
% oD S8k N =48
3, %

Sushil Kumar and Pooja Rani

D88 %ErE Lobdw Free ood
4. %



Question Number : 83 Question Id : 9683557467 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who has been announced as the brand ambassador of Amway India?
ey, 3080 [P0l worrREsT A5 (HE8omd?

Options:

Neeraj Chopra

DS S

PV Sindhu
o

N
&

P
2w

MirabaiChanu

Dooecron =%

BajrangPunia

2esdon e

Question Number : 84 Question Id : 9683557468 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Kandahar, which has been captured by the Taliban recently, is in which country?

3859 =0FS &;&éo E:‘f:ofoé& =858 D B0 @od?

Options :

Pakistan

(—
FEFS



Afghanistan

1y i T
O 0l
o

'Eﬁ_;:u
3¢ ¥

Kazalkhstan
KBS

t_iﬁ.-'_n{\.-'
4. %

Question Number : 85 Question Id : 9683557469 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What 1s the motto of the Tokyo Olympic 20207
ii*:'EEg 2002E 2020 dxelo AHS?
Options:

Share the spirit
&% DohEod
L=

1. %
One world one dream
. ¥ [DRoY ¥ Yo
2.

Welcome home

o0&l %‘iﬁéo
3 %



United by emotion

SerNo o 2X%rod
v v N} = ]

4.
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Question Number : 86 Question Id : 9683557470 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
When Marginal Utility diminishes, Total Utility

tarod (Ddradkn 28R, Iwdo (Hdredsin
Options:

Diminishes

e‘_‘éﬁfgéo::ﬁ

1. %



Increases

Erleslgstrslela

Remain constant

RBorr Botood
3.%

Increasing in a diminishing rate

y v SrHEK) Bend® DBrHE08s

Question Number : 87 Question Id : 9683557471 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In case of Unitary elastic, demand curve is
DES o E:'E“’é So&® ESrol Bwaren
Options :
Horizontal

©Eorr Botnod

Vertical

Qenyrre aoctwod

Rectangular hyperbola
é"é; S5HY T8 I



Upward sloping

Teo e Botood

Question Number : 88 Question Id : 9683557472 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct?
Bod & DB $BToKE?

Options :

TVC=TC-TFC

Sogo W8 pchdn = Swgo Hpchidn - Iwdo JBIpcHo
1.¢

TC=TVC-TFC

Sngo Johdn = Ingo NB ohdn - Iwgo 1S oo
2. % .

TFC=TVC+TC

Swgo %6 b = o N8 rchm + FwGo Haio
3. %

TC=TVC X TFC

Sngo oo = FwGo HE Jpdhdw X IwGo 5865 gevle
4. %

Question Number : 89 Question Id : 9683557473 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In which market AR=MR?

D $8° Bt Trd Bt Hpairds $HrdLn?
Options :

Monopoly
DEJoro

Monopolistic Competition

DTl 5
[P

Monopoly and Monopolistic Competition

DBFedro BI85
o o o o

perfect Competition

Bodes 5

Question Number : 90 Question Id : 9683557474 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Marginal Productivity theory of distribution is associated with

aaro8 aoiiee Sodd R odin AR RN
Options :
Adam smith

E. . E
elan )8
1. % =



Lionel Robbins

—
@l D)

2. %

J.B. Clark

—
2.8. 20

3.¢

Bergson

BEIHR
4. % O

Question Number : 91 Question Id : 9683557475 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The most important source of Revenue to the State is
m@z@ﬂ EiEn oeél SngyrFod Seergrdsn
Options :
Sales tax

S il
1.¢

Service tax

e S
[N

Excise duty



Interest tax

$&5%0)
4. % N -

Question Number : 92 Question Id : 9683557476 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Deflation occurs when

Wl ey s e . = & o
(DSRTpee0 HB)ERHE

Options :
The unemployment rate decreases

| E-Eﬁaé%ﬁéém éf’a&oé

1. %

Price fall

&8 e‘:ér;?é:oﬁ
2. ‘

Prices increase, but slower rate

B8 Voedorre iheéod

Real GDP decreases

T35 BETrEE Srhdod

=

Question Number : 93 Question Id : 9683557477 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The Parameters of the PQLI are

FPaE £5% (D Srddd Sordothdd
Options :
Life Expectancy Index
o

- 8di (Doree APDE

Standard of Living Index
5 % £58 (D S
Infant Mortality rate
. 8% Hocre Téw

Life Expectancy Index and Infant Mortality rate

oo (Hren SrdE HBckm 8 H¥cre Bew
4.

Question Number : 94 Question Id : 9683557478 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

NNP means

s & -
DEE 8T8 oXrr

Options :
GDP — Depreciation

CATPHS - SHhEe

-
[ ]



GDP + Depreciation
LTS + S&ibSe

NNP — Depreciation

QXS Eé@‘é&é — &Xhde
3. %

GNP-Depreciation

PERrEHS - SBHSe
4.9 k=

Question Number : 95 Question Id : 9683557479 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Supply creates its own demand is the idea of

0 Eloss &3 5 806 3 E,Lo %0008 ©3 8IS Lo

3..'

Options :
J.B. Say

. @

2

1.4

Samuelson

SeS0rens
= od

J. M. Keynes

2
£
&1
(¥
h



Milton Friedman

N os S (5452,
 Soos (HEDS
4.% e @

Question Number : 96 Question Id : 9683557480 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Keyne's introduced the hook “General theory of Employment, Interest and Money” in
the Year
£5) “aftnoe, 96, (5% Fordn brrodo” 8 (omd) [Hih8ols SIRES
o o () o [ B
Options :

|« 1929

, . 1933
. 1936

1935
4. ®

Question Number : 97 Question Id : 9683557481 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

NITI Aayog was formed on
D& e@rh 58S Joke 8o

Options :

1. %



Jan 1, 2014
22581, 2014

Jan 1, 2015
, » %81, 2015

Jan 1,2016
5 % @d5B1, 2016

Jan 1, 2017

Question Number : 98 Question Id : 9683557482 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
NAABARD is situated
Tl (Dol Trorrechdn

L )

Options :

Delhi

5
1. % &E{



Bangalore

BorhErto

Mumbai
4. v S00Z

Question Number : 99 Question Id : 9683557483 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The service sector includes activities such as

-

D BoldndsQ :"655&?‘5‘&33
Options:

Agriculture, dairy, fishing and forestry

rdrahdn, Sr&HBED, Tde Dodo, wiHe

Making Sugar and Bricks

$B)8 S8, atwle $cirb

Transport, Communication and Banking

Bareae, ot S0dcin erofon
-t

Bee keeping

-

SIie odsXo



Question Number : 100 Question Id : 9683557484 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is the method of measuring National Income?

Eormrahing FOT Hdsen
b

Options :

Output method

22

"
-~

HDEE
1. % ®

Income method
LTEGH HRS
2. # -

Expenditure method

S DK
v @

All of these

[N



